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 ENAČBE S SEŠTEVANJEM IN ODŠTEVANJEM
   x + 28 = 71                		Preizkus:
           x = 71 – 8                      43 + 28 = 71
           x = 43                                                                                                             

  25 + x = 57                            P: 25 + 32 = 57
          x = 57 – 25
          x = 32

  82 – x = 26                             P: 82 – 56 = 26
         x = 82 – 26 
         x = 56

  x – 13 = 77                              P: 90 – 13 = 77
         x = 77 + 13
 x = 90

